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1. � r = (x, y, z), r = ‖r‖ =
√
x2 + y2 + z2, α ∈ R �����20 ��

(a) �� rαr 	 R
3\{(0, 0, 0)}������������
�� ϕ.

(b) � S �����
x2

4
+

y2

5
+

z2

6
= 1�������� n�����������

∫

S

r · n
r3

dσ.

2. �� R
3 ���� v = (z, x, y)���������� v �����
������

����� x, y, z ���� 2 ��	����10 ��

3. �� Green ���� x = cos3 t, y = sin3 t(0 � t � 2π) �������10 ��

4. ��� Γ � z � 0 � x2 + y2 + z2 = 4x � x2 + y2 = 2x �����
 (1, 0, 0) ��

��Γ 	����������� Stokes �������������10 ��

∫

Γ

(y2 + z2) dx+ (z2 + x2) dy + (x2 + y2) dz.

5. ��� x2 + z2 = 2z � z =
√
x2 + y2 ���� L, �����������15 ��

∫

L

√
(z − 1)(2− z) ds.

6. ���� Ω ⊂ R
3 ��
���
�������������� Ω ��	���

	�����10 ��

7. � V ⊂ R
3 	�����∂V �	����n	 ∂V ��������v � R

3 ��	

���������15 ��

∫

∂V

n× v dσ =

∫

V

∇× v dμ.
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8. � P (x, y) � R
2 ���	���L� R

2 ���	��������
� A,�
�

B. 
� δ > 0, ��

Dδ =
⋃
p∈L

Bδ(p),

�� Bδ(p) ��� p ��
�� δ ��������10 ��

(a) ������
��� ε > 0, �� δ > 0,
� Dδ ����� A ��
�� B

��
�	���� L′, ���
∣∣∣∣∣∣
∫

L

P dx−
∫

L′

P dx

∣∣∣∣∣∣ < ε.

(b) ������
��� ε > 0, �� δ > 0, 
� Dδ ����� A,B ��
�

	���� L′, ��� ∣∣∣∣∣∣
∫

L

P ds−
∫

L′

P ds

∣∣∣∣∣∣ < ε.
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